Biomolecules Practice Questions

1. Which element is not typically a part of a carbohydrate molecule?

A. carbon

B. sodium

C. nitrogen

D. hydrogen

2. Use the information in the box to answer the question that follows.


Which term best completes the analogy above?

A. DNA

B. glycerol

C. amino acid

D. carbohydrate

3. What is the structural function of cellulose in plants?

A. to perform photosynthesis

B. to provide strength and rigidity

C. to absorb nutrients from the soil

D. to capture radiant energy from the Sun

4. Which of the following accurately compares carbohydrates to lipids?

A. Carbohydrates are more complex than lipids.

B. Lipids are organic compounds, but carbohydrates are not.

C. Both lipids and carbohydrates store energy in their chemical bonds.

D. The elements that compose carbohydrates are different from those that compose lipids.

5. A biology class is playing a game called Fool the Class. Four students stand in front of the class, each wearing a sign that reads “I am the real protein.” Each of the four students make statements as indicted below.

Margie: “If you need instructions, I’ve got ‘em! If you’re looking for me, I’ll be in the nucleus. I am the real protein.”

John: “If you’re looking for the perfect fit, I’m your man. I’m like a contortionist. I can bend and fold myself in different shapes. I am the real protein.”

Randall: “Feeling tired? I’ll recharge your batteries, Sugar! I am the real protein.”

Chris: “Does your ear need wax? Does you cell need a membrane? Do you need a warehouse for energy? I have what you’re looking for. I am the real protein.”

Three of the students are imposters. Which student represents the real protein?

A. Margie

B. John

C. Randall

D. Chris
Nucleotide is to nucleic acid as __________ is to protein.








